
7395/100 (  1  )

Question Paper Code : 7395
M.A. (Semester-II)  Examination, 2018

PHILOSOPHY
[ Second Paper ]

( Logic II )
Time : Three Hours] [Maximum Marks : 70
Note : Answer five questions in all. Question No.1 is

compulsory. Besides this, one question is to be
attempted from each Unit.

uksV % dqy ik¡p iz'uksa ds mÙkj nhft,A izFke iz'u vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u fd;k tkuk gSA

1. Write short answers of the following : [5x6=30]
fuEufyf[kr ds laf{kIr mÙkj fyf[k, %

(a) Distinction between immediate and mediate
inference
vO;ofgr ,oa O;ofgr vuqeku

(b) Argument and argument form
;qfDr ,oa ;qfDr vkdkj

[P.T.O.]
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(c) Symbolise the following using given notations :
fuEufyf[kr dks fn;s x;s izrhdksa ds }kjk izrhdc)

dhft, %

(i) Snakes are Poisonous  (SX, PX)
lkai tgjhys gksrs gSa (SX, PX)

(ii) All snakes are not Poisonous (SX, PX)
lHkh liZ tgjhys ugha gksrs gSaA (SX, PX)

(iii) All sweets are delicious  (SX, DX)
lHkh feBkb;ka Lokfn"V gksrh gSa (SX, DX)

(iv) Some sweets are delicious (SX, DX)
dqN feBkb;ka Lokfn"V gksrh gSa (SX, DX)

(v) All that glitters is not gold  (GX, DX)
lHkh pedrh gqbZ pht lksuk ugha gksrh gS

(GX, DX)
(vi) Only brave deserves the honour  (BX, FX)

dsoy cgknqj O;fDr lEeku ds ik= gSaA

(BX, FX)
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(d) Use the method of conditional proof to verify the
validity of the following argument :
fuEufyf[kr ;qfDr dh oS/krk dks izekf.kr djus ds fy,

lksikf/kd izek.k dk iz;ksx dhft, %

(x) [(Ax v Bx)  (Cx . Wx) / (x) (Ax Cx)
(e) Prove that following argument is involid :

fl) dhft, fd uhps nh x;h ;qfDr voS/k gS %

(x) (Ex  Fx)
(x) (Gx  Fx)
/ (x) (Ex Gx)

UNIT-I @ bdkbZ&I
2. Prove the validity of the following using formal proof of

validity. [10]
oS/krk ds vkdkfjd izek.k dk iz;ksx djds fuEufyf[kr ;qfDr dh

oS/krk dks fl) dhft, %

(x) (Vx  Cx)
 x  (Rx. ~ Cx) / x (Rx. ~ Vx)

[P.T.O.]
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3. Symbolise the following argument using given notations
and construct a formal proof of validity :
A Professor is a good teacher if and only if he is both
well informed and entertaining. "Some Professors are
not entertaining. Therefore some Professors are not
good teachers.  [10]

(Gx, Wx, Ex)
fuEufyf[kr ;qfDr dks fn;s x;s izrhdksa dh lgk;rk ls izrhdc)

dhft, vkSj oS/krk dk vkdkfjd izek.k cukb,A

,d izksQslj vPNk f'k{kd rc vkSj dsoy rc gksrk gS tc og

vPNk tkudkj vkSj euksjatd gksA dqN izksQslj euksjatd ugha

gksrsA vr% dqN izksQslj vPNs f'k{kd ugha gksrsA

(Gx, Wx, Ex)
UNIT-II @ bdkbZ&II

4. Explain the nature of general statement according to
Strawson. [10]
LVªklu ds vuqlkj lkekU; dFkuksa ds Lo:i dk o.kZu dhft,A

5. Explain the classification of relations with examples.[10]
lEcU/kksa ds oxhZdj.k dks mnkgj.kksa ds lkFk le>kb,A
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UNIT-III @ bdkbZ&III
6. What are the criticism of Aristotalian logic given by

modern logicians. [10]
vjLrw ds rdZ'kkL= dh vk/kqfud rdZ'kkfL=;ksa }kjk nh x;h

vkykspuk,a D;k gSa \

7. What solution Strawson gave to prove that all rules of
Aristotelian logic can be accepted consistently ? [10]
vjLrw ds rdZ 'kkL= ds lHkh fu;eksa dks lqlaxr :i ls Lohdkj

fd;k tk ldrk gS bls fl) djus ds fy, LVªklu D;k lek/kku

nsrs gSa \

UNIT-IV @ bdkbZ&IV
8. What is mathematical justification of induction ? Explain

the reasen for its failure. [10]
vkxeu dk xf.krh; izek.k D;k gS \ bldh vlQyrk dk

dkj.k crkb,A

9. Explain the nature of induction, and Strawson's
arguments to show that demand for justification of
induction is unjustified. [10]
vkxeu ds Lo:i dh O;k[;k dhft, vkSj vkxeu ds izek.khdj.k

dh ek¡x dks vuqfpr crkus okys LVªklu ds rdksaZ dh Hkh O;k[;k

dhft,A

----- x -----

http://www.lucknowstudy.com

http://www.lucknowstudy.com

	7395

